BARIT TFH—TIL
1 St A2 L84 ISP h— Ao L
17—/

No. [CODH R4 | 54 BER4L [No| 1 2 3 4 5 6 TD| TR| V/M |TD/TR| TD/M

M|V
1| 16 [/5F| b bmg| %G =& |1 V5|V5h 21 2|10| 2| 1.000]| 5.000| 5.000
2 | 19 |EF| kb | %l R | 2 210 0[10] 0.000]| 0.000| 0.000
3| 5 |AF| —MES| THE OF |3 V5 2| 1| 7|5 0500]| 1.400| 3.500
4 4 nusan | gHagus | tHage
5 5 nusan | gHaus | tHagu
6 6 nusan | gHaus | tHagu
27— )L
No. [CODH 44| k4 BERA [N 1 2 3 4 5 6 | M| VvV |TD|TR| V/M | TD/TR| TD/M
1| 17 [/&F| b b | g w2 |1 V5|V5|V5 313 |15| 1| 1.000|15.000 [ 5.000
2| 6 [BEF| BB | B Exi)| 2 3 3101 5|15 0.000| 0.333| 1.667
3| 15 [T —BE | R R 3 V5 V5 312 |10[10]| 0.667| 1.000| 3.333
4 | 18 |BF| b ¥ | s5u BT | 4| O0|(vhe| 4 31 1] 9 (13| 0.333] 0.692 | 3.000
5 5 nusan | gHagus | tHage
6 6 nusun | gaagun | sgaga
37—
No. [CODH 44| 4 BERA [N 1 2 3 4 5 6 |M| VvV |TD|TR| V/M | TD/TR| TD/M
1 1 AR —BEE | 58 #E |1 V5|V5|V5 313 |15[ 6| 1.000| 2.500 [ 5.000
2 | 3 |AF| MBS TIE WHE | 2 V5 31 1|8 [10] 0.333] 0.800| 2.667
3| 8 |[BF| —PAE | ek BRI | 3 V5 V5 312 |14| 8| 0.667| 1.750 | 4.667
4 | 14 |E5F| —BHEEZ| s & | 4 0 0 2 310 2([15] 0.000]| 0.133| 0.667
5 5 nusun | gaagus | sgaga
6 6 nusun | gaagun | sgaga

47— )L
No. [CODH B4 | 22ki4 | mFEm4 [N 1| 2 [ 31 4| 5] 6 M| v|[m|mRl v/ [ TD/TR| TD/M
1|1 1 wens | gunnnn | Hanmms
2 | 3 2 s | HHHn | S
3| 7 3 s | HHHn | S
4| 15 4 s | HHHn | S
5 5 s | HHHn | S
6 6 s | HHHn | S
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BAxn ®FH—TI

1IElENENLL (TEZEH) % BRHD (784 AP h—T A b~
hiEr] No. fcobH B4 | kit BERL [N 1 2 3 4 5 6 |M| V |TD|TR| V/M | TD/TR| TD/M
1 AR A B | e oRE | 1 V|5|V[5|V]|5 313 [15( 1] 1.000 |15.000 | 5.000
2 AF| b b | 4 s |1 V[5[V|5 212 (10| 2| 1.000 | 5.000 [ 5.000
3 AF—BEE | HH EE |1 V|5|V|[5|V]|5 313 |15( 6| 1.000 | 2.500 [ 5.000
4 EF| B | R R | 3 4|V|5 V|5 31 2|14 8| 0.667 | 1.750 | 4.667
5 AF| BB | BT KA | 3 0|V]|5 V|5 312 (1010 0.667 | 1.000 | 3.333
6 AT CBEE | T OLE |3 2|(v|5 21 1|7 5]0.500 | 1.400 | 3.500
7 AT BEE T T OBIE | 2 2 1|V]5 31 1|8 [10]0.333 | 0.800 | 2.667
8 AF| b B | 4 BT | 4 0|V]|5 4 31 1|9 ([13]0.333 |0.692 [ 3.000
9 AR BB BIR x| 2 1 1 3 3101 5|15]0.000 | 0.333 | 1.667
10 AT —BEE | )R dria | 4 0 0 2 3101 2(15]0.000 | 0.133 | 0.667
11 A=F| LB | SRHE BoE | 2 0 0 210|010 0.000 | 0.000 [ 0.000
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Xtin XFH—2J )L

JIERZ([CODH W44 | P4 BFRA
1 AF| LB | g RE
2 AT AL AR | i AR
3 AF| —HEE | W B
4 S| —RE | R BRI
5 AP BB NEHF R
6 AF| BB TIE LE
7 AF| BB TIE BT
8 AF| b B | 4Guh BT
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